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Study Sheet

Saeed, Chapter 4

“Sentence Relations and Truth”

Linguistics 3430

Fall 2007

Background. We have been thinking about semantic relationships between words. We have found that these relationships create relationships between sentences. Now we are going to look more closely at semantic relationships between sentences, using the concepts of truth and falsity. Our aim here is to determine what inferences are logically valid inferences and how the truth or falsity of a complex sentence can be deduced from the truth or falsity of its parts. 

1. For each of the examples in (4.1-4.6), use the concepts of truth and falsity to describe the relationship exemplified. 

2. In theories of meaning based upon truth, the meaning of a sentence is said to be the conditions under which that sentence can be assigned a value of true or false. Explain what you think this might mean. 

3. In this chapter, you are introduced to propositional logic. Propositional logic enables us to determine how the truth or falsity of individual propositions affects the truth or falisty of combinations of those propositions. These effects are displayed in the form of truth tables. Truth tables contain symbols which stand for propositions (P and Q), symbols with stand for operators (like not) and symbols which stand for connectives (like and). Complete the truth tables in 1-5 and then answer the questions below each. 

	P
	~P

	T
	

	F
	


Table 1. Truth table for negation.

· Discuss the distinct patterns of entailment of negative and positive versions of the same sentence, as in (a-b). (Hint: It is sometimes said that when a sentence invokes a scale of some kind, negation ‘reverses’ the direction of entailment on the scale. )

(a) She can jump 5 feet.

(b) She can’t jump 5 feet. 

· The following sentence has two meanings, depending upon the intonation used. Give the two meanings, and, if you can, the intonation associated with each one. 

(a)
She didn’t move to San Francisco because her mother lived there. 

	P
	Q
	P & Q

	T
	T
	

	T
	F
	

	F
	T
	

	F
	F
	


Table 2. Truth table for conjunction.

· It is generally said that when you reverse the order of the two propositions in a sentence of the form P&Q, this reversal does not affect the meaning of the sentence. Give an example in which reversal (i.e., Q&P) would affect the meaning of the sentence. 

· Give a propositional logic representation of the following sentence:

(b)
 She didn’t buy strawberries and motor oil.

Might (b) actually have more than one propositional logic representation?

	P
	Q
	P Q

	T
	T
	

	T
	F
	

	F
	T
	

	F
	F
	


Table 3. Truth table for disjunction.

· The truth value that you have to fill in the first row of Table 3 might have surprised you. Take an ordinary sentence containing disjunction and briefly explain why in an ordinary context you would not likely interpret it as asserting the truth of both P and Q. 

· Give a propositional logic representation of the following sentence:

(a)
She didn’t buy strawberries or motor oil. 

Might this sentence be ambiguous (i.e.,  have more than one propositional logic representation)?

	P
	Q
	P   Q

	T
	T
	

	T
	F
	

	F
	T
	

	F
	F
	


Table 4. Truth table for material implication.

· Look at the third row of Table 4 (after you have filled it in). Take an ordinary sentence containing if and briefly explain why in an ordinary context you would interpret the if as meaning only if. 

· Does material implication involve a condition that is sufficient, necessary, or necessary and sufficient?

· What problem does Saeed see this truth table presenting for the analysis of counterfactual sentences?

	P
	Q
	P  Q

	T
	T
	

	T
	F
	

	F
	T
	

	F
	F
	


Table 5. Truth table for the biconditional.

Does the biconditional operator describe a condition that is sufficient, necessary, or necessary and sufficient?

4. Give an example of a sentence that describes a truth which is both necessary and analytic, but not a priori. (Now take a look at Problem 4.5 on p. 112, which you are going to be asked to do.) 

5. Which of the three varieties of truth pertains to the way in which we gain knowledge? To the way that the world is? To the newsworthiness of an assertion?

6. The definition of presupposition includes both entailment and negation. Explain. 

7. Now take a look at 4.8 on p. 113, which you are asked to do for Homework #4. Use what you learned about the relationship between presupposition and negation to create a test that will enable you to determine for each (a) whether it entails or presupposes its corresponding (b) sentence. Now explain your test procedure. HINT: Turn the (a) sentence into a yes-no question or a negative sentence and then determine whether it continues to require the truth of the (b) sentence. Assume that every case is AT LEAST entailment. 

8. What is the difference between an approach to presupposition failure based upon truth gaps and the one that Russell advocates? In particular, think about Russell’s contention that the sentence The present king of France is bald is false. You might want to make reference to the analysis in 4.84 on p. 105.

9. The salesperson in Macy’s, while ringing up my purchase, asks me Will you be using your Macy’s card today? I don’t own a Macy’s card and I therefore feel rather uncomfortable. Which theory of presupposition, the truth-based theory or the interactional theory, would do a better job describing what’s going on in this situation?

10. In addition to definite nominals, there are several other linguistic expressions that give rise to presuppositions. These are called presupposition triggers. For each of the following sentences, describe what the presupposition is and what the trigger is:

a) Have you stopped beating your dog?

b) It’s the color that really bothers me. 

c) She cleaned up the kitchen before we came over. 

d) I regret saying that.

e) Which wine did you sample?

f) She accused me of talking to you.

11. Give an example (other than one in the text) in which a presupposition fails to project to the sentence as a whole. 

12. Give an example (other than one in the text) of defeasibility of a presupposition.

13. Give an example (other than one in the text) in which you force your hearer to accommodate to your presupposition. 

14. In Problem 4.7 on p 113 (which you will do in Homework #4), you are asked to determine which of the verbs in the list is a factive verb, like realize. Discuss how you can use the difference between the normal sentence (g) and the weird sentence (h) to create a test that will enable you to determine which verbs are factive and which aren’t. Here are the sentences:

g) Normal: ABC News announced that Al Gore had won Florida, but they were wrong.

h) Weird: ABC News knew that Al Gore had won Florida, but they were wrong.

NOTE. Make sure that all of the predicates that you test have that-clauses (e.g., that Al Gore had won Florida) as their complements. If you don’t use a clause as the complement, you won’t be able to perform the test. For example, for the predicate be aware, DON’T use an example like She was aware of the difference. 

15. Problem 4.3 (pp. 111-112) requires you to think about the difference between the following two logical formulas:

a. ~(P v Q)

b.
~P v Q

Show that (a) and (b) have different truth values when P is false and Q is true. Assume that ~P in (b) is the same as (~P). 

Hint about Problem 4.3: you will end up with 6 answers, because you are judging three different truth-value (S1-S3) for each of the two formulas above. 

